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18P/291/22(Set-1)

No. of Questions : 120
e $ &7 120

Time : 2 Hours | [ Full Marks : 360
w7 :2 g ) [ gt : 360
Note : (i) Attempt as many questions as you can. Fach question carries 3 (three)

marks. One mark will be deducted for each incorrect answer. Zero mark
will be awarded for each unattempted question.

aﬁmﬁmmﬁﬁa&mﬁwmﬁ|mm3(ﬁﬂ)mﬁw%l

mmmﬁﬁvwwmmrmﬂﬁﬁauwmwm
A BN |

(it) If more than one alternative answers seem to be approximate
answer, choose the closest one.

U%qmﬁwﬁqmmﬁﬁméﬁmmﬁaﬁﬁmnmﬁm4

G

to the correct

Directions (Question Number 1 to 5) : Following is a passage with 5 questions, read
the passage carefully and choose the best answer to each question out of the four
alternatives according to the content of the passage.

Passage

Nobody can argue that the acquisition of knowledge is more fun and easier with
computers. The mere activity of touching and exploring this device constitutes an
enjoyable task for a child. This, accompanied by the relaxing attitude and software
interactivity, usually contributes to a better grasping of new knowledge. At a higher
educational level, the availability of digital book, simulator and other academic
materials provide the student with an ever accessible source of information, that
otherwise would not be at hand. But, besides the increasing complexity and behaviour
of intelligent software, which is usually embedded in the academic digilal material,

(3) . T
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a : ce Wi Avavs b{_“ 'irL‘f-Ent, at It'ﬂ“t
the need for human interaction in the learning process will alway ' I s
' for a human being to be able

i § : f g e 18 scessity
" the faresecable future. There is the ne \ ’
wolbiis ‘ are. A cmﬁpulvr, no matler how

determine what the specific needs of cach individual

LY ] l LY o N \ i! ] 1 \ . } XD ‘5 i. I 'I' l]* }1“]'\'\. Il.l

i : x concepls to different individuals,
explain and adapt complex concepls (0 differenting

: L —— ravs be required in order
1. According to the author, human intervention w ill always be req

to:

(1) repair broken down machines

(2) determine Lhe spec fic needs of the individua!
(3) update old software

() build bigger machines

2. Inwhat way are computers inadequate imspite of their sophistication ?
(1) they keep breaking down after much use
(2) they still need humans to turn them on and off
(3) they can hardly imitate a teacher's ability to explain the most difficult of
CONCEPLS

(4) they require humans to updale them pu.‘rms._hmh}*

. g o . ek snts in the world of compulters
3. According to this passage, W hat new development: t

have helped students gain more access to information ?
(1) availability of printing facilities

(2) availability of word processing applications

(3) availability of digital books

(4) availability of general knowledge soltware

4. That computers make learning easier is a fact.
(1) contesled by a few (2) welcomed by all

(3) accepted by all (4) rejected by some

(4)

e collegedunia:

India’s largest Student Review Platform
T



18P/291/22(Set-1)

5. W
hat other factors related to computers contribute 1o a deeper acquisition of
knowledge ?

(I} relaxing attitude and software Inleractivity
(2) convenience of usage and design
(3) prompl response and accuracy

(4) user friendliness and casy accessibility

L.)irelctiuns (Qufrslion Number 6 to 9) : In the fnllnwing questions, choose the word
thatis opposite in meaning to the word given in capital letters.

ﬁéwfmmﬁﬁg):ﬁwf%‘f%am%wsm?ﬁrgmﬁmmmmjag
3R # Ry 1 v &1 R @ |

6. AMATEURS:

(1) Democrats (2) Promoters
(3) Professionals (4) Actors
7. DECEIT:
(1) Sincere (2) Plainness (3) Natural (4) Honesty

8. BENEVOLENT:

(1) Equivalent (2) Malevolent

(3) Sovervign (4) Prevalent
9. ABRUPT:

(1) Gradual (2) Obscure

(3} Rapid (4) Concrele

Directions (Question Number 10 to 13) : In the following questions one word is giver
along with the four alternatives. Out of the four alternatives, choose the one which
best expresses the meaning of the given word.

Frewr (e e 10 9 13) : Fsfafa vel 4 e w= © @ or fmey Ry 7 #) g
TR e § § U6 &7 g AR A Ry T v 3 et B waw 3= avw wed men
:

(5) .10
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18P/291/22(Set-1)

10. PODIUM:
(1) Stand (2) Arena

(3) Tripod (4) Dais

11. CIHARISMA :
(1) Charm (2) Character

(3) Power (4) Fame

12. INSANE:
(1) Foolish (2) Funny
(3) Cowardice (4) Mad

13. QUEST:
(1) Trial (2) Test
(3) Search (4) Decision
Directions (Question Number 14 to 19) : In the following questions, sentences are

given with blanks to be filled in with an appropriate word. Choose the correct option

to fill in the blanks.

Préw (ve= wEm 14 A 19) : Prefafd gl 8 @l wE @ Wy qn ol @ e
I T W W AT ¥ | Wl W R & Ry o R a1 g AR |

14. Heisonly an .....ocooenneen director in the organization but he does his work

sincerely.

(1) honorific (2} honour
(3) honourable (4) honorary
15. A warmreception was ................ him.
(1) given for (2) allotted to
(3) accorded to (4) allied to
(6)
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18P/291/22(Set-1)

................ riches.
(1) desirous of (2) desire of
(3) desire for (4) desire to
17. Thedoctor ............ the woman that her son would recover.
(1) ensured (2) insured
(3) assumed (4) assured
18. The o P Geneva,
(1) destined to (2} bound to (3) bound for (4) bound of

19. Rahul had always hoped that his father would ... the property to him.
(1) bequeath (2} bespoke (3) disclaim (4) beseech
Directions (Question Number 20 to 23) : In the (ollowing questions, four words are
given i each question, out of which only one word is correctly spelt. Find the

correctly spelt word.
ﬁa‘w(mﬁwzoﬁzs):ﬁm%ﬁgauﬁﬁ,mgﬁﬁmﬁmmwa‘ﬁﬁqﬁﬁ
Fae U6 W& DI T Gl 2| WE [N a9 % qangy |

20. Find the correctly spelt word.
qe 93 T 9 T Ay
(1) Decesive (2) Decesieve
(3) Decisive (4) Deciseev

21.  Find the correctly spelt word.
JE TN qT e DI garsy |
(1) Milennium (2) Millennium
(3) Millenium (4) Millanium

22. Find the correcﬂy spelt word.
TE T T VR Pl AU |
(1) Alkale (2) Alkalie
(3) Alkali (4} Alkel

(7) P.T.O.

collegedunias

—



18P/291/22(Set-1)

23. Find the correctly spelt word.
ad) @ g 9@ @1 ddigt |
(1) Awakward
(3) Awkkward

(2) Awkword
(4) Awkward

following table shows the number of

Directions (Question Number 24 to 28) : The
a company and also the

new emplovees added to different categories of employees in

number of employees from these categories who left the company every year since the

foundation of the company in 1993. Study the following table carefully and answer the
guestions accordingly.

ﬁ%ﬂ(ﬁﬁﬁwzaﬂzsjzﬁrﬂ%&aﬁm@?1w5ﬁwmﬁ7$m$mqé¢
zﬁﬁalﬁaﬁm‘ﬁfﬁ?wﬁ#ﬁaﬂmﬁ?ﬁzﬁmﬁaﬁwmtﬁmﬁmﬁmﬁﬁé
Fr) Bred g seuikal @ s g 3| Prafafea |~ &1 QEAUHIGad el

FY Managers Technician's Operators Accountants | PE"TS_.,.__
} - .New Left l\'m; ! Left | New Il Left | New Left Ngw { Left
rlzjuﬁ 76() - L1200 - | 880 - e | - | 80

1_199[{ 280 r 120 | 272 | 120 | 256 104 | 200 | 100 : 184 96
. | | | |

| 1997 | 179 | 92 240 | 128 240 | 120 | 224 | 104 | 152 | 88

| 1998 E 148 | 88 | 236 i 9 | 208 | 100 | 248 96 196 S0
1999 |' 160 | 72 | 256 ll 100 | 192 | 112 ) 272 | 88 F 224 'I 120
2[](1-[]i 193 96 288 !i 112 | 248 | 144 | 260 | 92 200 i 104

24. What is the difference between the total number of Technicians added to the
Company and the total number of Accountants added to the Company during
the years 1996 to 2000 ?

1996 ¥ 2000 g5 @ ¥ wie R T SFIRmT B & T oA e
i eifie v T Uesed B fo e ¥ b aR 8 7

(1) 128 (2) 112
(3) Y6 (4) 88

(8)
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25. What was the total number of Peons v

26.

21

28.

18P/291/22(Set-1)

orking in the company in the year 1999 ?

Hﬁw%ﬁwiq?ﬁﬁ?ﬁi?ﬁﬁﬁﬂ‘l?ﬁajaﬁww?ﬁ?

(1) 1312 (2) 119 (3) 1088 (4) 968

For which of the following categories the percentage increase in the number of
employees working in the Company from 1995 (o 2000 was the maximum ?

(1) Managers (2) Technicians

(3) Operators (4) Accountants

Frafefed & < oo o & 98 1995 | 2000 & &5 o ¥ Frika FEoRE @
[ 7 uforer afy sfdaas o 2

(1) TR (2) TFNRT=
(3) Sffudes (4) THFE<eH

What is the pooled average of the total number of employees of all categories in

the vear 1997 7

a8 1997 A W 971 & iR A w w@n w1 G s a9 o ?
(1) 1325 | (2) 1195

{3) 1265 (4) 1235

During the period between 1995 and 2000, the total number of Operators who
left the Company is what percent of total number of Operators who joined the

Company ?

a9 1995 SR 2000 & 4 TN B A e B @ wE@n FD TEEE
T T ATREd B [ W@ &1 e ufrem @ ?

(1) 19% (2) 21%
Ij} 2?“1l {-I'] 29[.'.”

(9) P.T.O.
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18P/291/22(Set-1)

- . ive reentage
Direction (Question Number 29 to 33) . The following line graph gives the pe a

o A e total number Of
Af the number of candidates who qualified an examination out of the total !}L o
g - ; i soven years from
candidates who appeared for the examination over a period of seven year |
| e , Lions wiven
to 2000, Study the following line graph carefully and answer the questions gl

below it.
frdyr (wew wEm 29 @ 33) o Pyl waaE 1994 & 2000 a@ wden ¥ Gl &

FvE

: % r s = are L
o it 7 den § 9 o anuRl @ T uid QU © forit I 41 e
g @ £ Prefarua Yarfis & areurdgad IR Ffory aen N R ueAl @ TR

G4 ] Kl

Percentage of total number of candidate who gqualified lo appear in an examination over

the years
Afr= qat & ghar § A gu ae ol § oréan Wi snaloRn b WidAT

90 \ 80 80

Percentage
v

R e e R

. —— : e
1994 1995 1996 1997 1998 1599 2000

Years

29. The difference between the percentage of candidales qualified among those
who appeared was maximum in which of the following pairs of years ?

(1) 1994 and 1995 (2) 1997 and 1998
(3) 1998 and 1999 (4) 1999 and 2000

Frer 79 el # 3 feed wlen # witafom YU anariel oeon e g anuf@ @
ufererg @& dla R Sfeas o4 7

(1) 1994 3% 1995 (2) 1997 3R 1998
(3) 1998 3R 1999 (4) 1999 aite 2000
(10)

collegedunia
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18P/291/22(Set-1)

30. In which Pair of years was the number of candidates qualified, the same ?

(1) 1995 and 1997 (2) 1995 and 2000
(3) 1998 and 1999 (4) Data inadequate
frvt ym aut ¥ < ferd arden v snafill & wEn T o) 2
(1) 1995 3R 1997 (2) 1995 3R 2000
(3) 1998 3% 1999 (4) avara e

31. If the number of candidates qualified in 1998 was 21200, what was the number
of candidates appeared in 1998 ?

(1) 32000 (2) 28500
(3) 26500 . (4) 25000
af? 1998 i o g Afda o wer 21200 ot oY 1998 # when % wfvia EU
(1) 32000 (2) 28500
(3) 26500 (4) 25000

32. II the total number of candidates appeared in 1996 and 1997 together was
47400, then the total number of candidates qualified in these two years logether

was :
(1) 34700 (2) 32100
(3) 31500 (4) Data Inadequate

fe 1996 3R 1997 ¥ witnferm gy sl @ & v 47400 o, @1 59 21 aut 3
U | Fremey sEar uret spafiell & @ den i o) ?

(1) 34700 (2) 32100

(3) 31500 (4) IualE S

33. The total number of candidates qualified in 1999 and 2000 together was 33500
and the number of candidates appeared in 1999 was 26500, then what was the
number of candidates in 2000 ?

(1) 24500 (2) 22000
(3) 20500 (4) 19000

(11) P.T.0O.

collegedunia
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18P/291/22(Set-1) .
o 1999 3y 2000 ¥ g wa i B gh AT o T_:m ?‘:‘:’”{fiw‘l
ot 1999 3 ARRRRT g SRRl BT Bl 26300 W, a1 2000 H apfda] @ e
foe=it 21 7
(1) 24500 (2) 22000
(3) 20300 (4) 19000

Directions (Question Number 34 to 38) : The following line graph gives the ratio ol
the amounts of imports by a company to the amount of exports from that company
over the period from 1995 to 2001. Study the following line graph carefullv ond

answer the questions given below it.

fyder (e 34 QA 38) : T T@ifs @ T ERT 1995 J 2001 a& el T s A
srar @uT I @A g A T fyatg @ " B U QR 1 wafis &
AEEEE e #fie qen AR Ry gl @ S g |

Ratio of value of imports 10 exports by a company over the ycars

el 1 ' . 1.55
LI . - SR U™ D .

1_4 o ann
1_3 Bl e e
13 4
1.1 -
1 -
0.9 +—-~ -
0.8 1
0.7 1
0.6 {--
0.5 1
0.4 {—
D iiecsmiieions LR
024~ e S il
0.1 ' ' ' ; ,

Y

1995 1596 1997 1998 1999 2000 2001

Years

34. 1f the imports in 1998 was Rs. 250 crore and the total exports in the vears 1998

and 1999 together was Rs. 500 crore then what was the imports in 19942

(1) 250 crore (2) 300 crore (3) 357 crore (4) 420 crore

a2 1998 | AmTE € 250 GRS o aur 1998 SN 1999 H ®E I T 00 adie
off AT 1999 # sad e o1 7

(1) 250 FTS (2) 300 #3re (3) 357 S 4) 420 TS

(12)
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18P/291/22(Set-1)

35. In which of the following years the imports as a proportion to the exports of the

36.

37.

38.

company was minimum ?

(1) 1995 (2) 1996
(3) 1997 (4) 2000
Waﬂfﬁﬁ%ﬂﬁiﬁﬂﬁraﬁﬁvﬁﬁzhaﬁqmﬁmmww’
(1) 1995 (2) 1996
(3) 1997 (4) 2000

What was the percentage increase in imports from 1997 to 1998 ?

(1) 72 (2) 56

(3) 28 (4) Data inadequate
1997 9 1998 & 9 @@ s wftverd § e ofiy off 2

(1) 72 (2) 56

(3) 28 (4) I affEs

If the imports of the company in 1996 was Rs. 2,720,000,000, then what was the
exports from the company in 1996 ?

(1) 3,700,000,000 (2) 3,200,000,000
(3) 2,800, 000,000 (4) 2,750,000,000

7% 1996 § FER B I T 2,720,000,000 o, a1 1996 § mRE 1 gt Mo
o ?

(1) 3,700,000,000 (2) 3,200,000,000
(3) 2,800, 000,000 (4) 2,750,000,000

In how many of the given years were the exports more than the imports ?

(1) 1 (2) 2
(3) 3 (4) 4
fad M fhaa aul A smam @ amer At st o ?
(1) 1 (2) 2
(3) 3 4) 4
(18) P.T.O.
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18P/291/22(Set-1)

Direction (Question Number 39 to 43) : In vach of the following quesiions d number

S : & g st ive that will continue
series is given with one term massing. Choose the correct alternative that w ill ¢

the same pattern and fill in the blank spaces.

ﬁéw(mﬁwaeﬁqs):%ﬁ:ﬁnﬁmmﬁwﬁvﬁﬂn@?mﬂﬁwqq

—

| 3 20 o A # 9 aw wd Rees @ g ol Q) g SO T ARG T |

39. 13,35,57,79,911,..7

(1) 1110 (2) 1112

(3) 1113 (4) 1315

40. 8,13,13,23,18,33,..7
(1) 23 (2) 21

(3) 31 (4) 35

41. 4,9,16,25,36,..7
(1) 42 (2) 49

(3) 38 (4) 52

42. 12,24,48,96,192,...7

(1) 392 (2) 198
(3) 384 (4) 258

43. 567,189,63,21,..7
(1) 12 (2) 18

(3) 7 (4) Y

(14)
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44, Arrange the words given below in a meaningful sequence.

45.

46.

1. Milk, 2. Grass, 3. Cow, 4. Butter, 5. Curd

(1) 3,2,1,5,4 (2) 3,1,2,5,4
J3) 2,1,3.4.5 2) 23 L4.5
A7 Ry v vl B ur wele w N aaieg o

1. q, 2. °UI4, 3, T, 4. 5a@+, 5. g8l

(1)-3,2,1,5,4 () 3.1,2,5,4

() 2.1,3,4.5 “) 2,3,1,4,5

Arrange the words given below in a meaningful sequence.

I Plate. 2. Cutting, 3. Cooking, 4. Vegetable, 5. Market
(1) 5,4,3,2,1 ) 94,231
) 541,23 (# 1,3,5,2,4
A3 R 70 9] &1 vs wets w9 A walerd &Y |
l.®T, 2. e, 3. TS, 4. W], 5. 9R

(1) 5,4,3,2,1 (2. 5:%:.2:3,1
(3) D412, 3 (4) 1,3,5,2,4

Find the next term in series 2A11, 4D13, 12G17, ... ?
(1) 36119 (2) 36J21
(3) 48]21 (4) 48)23
=0t 2A11, 4D13, 12G17, ... ? BT 3T 9§ T I |
(1) 36119 (2) 36]21

(3) 48]J21 (4) 48j23

(15)

18P/291/22(Set-1)
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18P/291/22(Set-1)

47.

48.

- 117G ?
Find the nexi term in series 2348, 17G12, 134 ...«

(1 11A2 (2) 10A3
(3) 11A4 (4) 1082
ot 23J48, 17G12, 1304 ... 2 & 3TelT I8 51T P |
(1) 11A2 (2) 10A3
(3) 11Ad (4) 10B2

Find the next term in series B25Y, C16W, DYU, [3dS, .- 2

(1) F2G (2) F1Q
(3) F2Q (4) EIQ
A7 B25Y, CieW, DU, E4S, ... 7

(1) F2G (2) F1Q
(3) F2Q (4) EIQ

Direction (Question number 49 to 51) For the following information : Q is the son ol

A, P is the husb
sister of Q. T is the brother of S. Answer the following questions.

and of A, Q has two children S and T, S is the daughter of R, M is Lhe

ﬁéw(mﬂwwﬁm)%ﬁﬁegaﬁrzﬁanwetﬂ:(),hmg'ﬂ%. P, A @&t & Q
FATASIRTE S RETARIM QA AR T, S @ e &, R=fofm wwi @

a7 oy |
49. How is M related l0R?
(1) Sister (2) Mother
(3) Sister in law (4) Aunt

\ fFe yeR R < <idfaa 8 °?
(1) Rz (2) Hrdl
(3) Rrega-& (4) s

(16)

—
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50.

51.

52.

53.

18P/291/22(Set-1)

How many females are there the family ?

(1) 4 o) 3
(3) 3 1) 2
Ui # wa frah afgend & 2

(1) 4 2) 5
(3) 3 (4) 2

How many males are there the family ?

(1) 4 (2) 3
(3) 2 (4) 5
IRIR & Ha ey gew & ?

(1) 4 (2) 3
(3) 2 (4) 5

[f PRIVATE is coded as 1234567 and RISK is coded as 2398, how is RIVETS
coded ?

(1) 232679 (2) 243769
(3) 23476Y (4) 234976

e PRIVATE @1 @2 oo 1234567 & 4 # & 3R RISK &1 &g wdad 2398 &
&g &, @ RIVETS &1 @i dhas o9 fear sgm ?

1) 232679 (2) 243769
(3) 234769 (4) 234976

In a certain code STUDENT is written as TUTDNES. How will SOURCES be
written in that code ?

(1) SOURCES (2) SUORECS

(3) SRUOCES (4) SOURSEC

vk BfRa @ W 4 STUDENT @ TUTDNES forat omm 21 ol @ o
SOURCES &1 @9 ferar s ?

(1) SOURCES (2) SUORECS
(3 SRUOQCES (4) SOURSEC
(17) P.T.O.
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. i . l‘l
54. In a certain code SENSITIVE s wntten as Q! ILVOWGYC. How i
MICROSOFT be written in that code 7

(1) KGAPMQMDT (2) OKETQUQHYV
(3) KLAUMVMIR (4) LKBTNUNHS

@ fafiee @ Wl & SENSITIVE @ QHLVGWGYC Ferat off g | et me 9w
3 MICROSOFT @ &% fer@n @ ?

(1) KGAPMQMDT (2) OKETQUQIV

(3) KLAUMVMIR (4) LKBTNUNHS

55. In a code, CORNER is writlen as GSVRIV. How can CENTRAL be written in
that code ?

(1) GJRYVEP (2) GIRXVEP

(3) GNFJKER (4) DFOUSBM

g #e 9 ¥ CORNFR ®f GSVRIV Tora! i 21 9 w2 T ¥ CENTRAL &
Ay form @1 @aar g 7

(1) GIRYVEP (2} GIRXVEP

(3) GNFIKER (4) DFOUSBM

56. A man walks 1 km towards East and then he turns 10 South and walks 5 km.
Again he turns to East and walks 2 km, after this, he turns 10 North and walks 9

km. Now, how far is he from his starting point ?

(1) 10km (2} 9km

(3) 5km (4) 4 km

e afad yd @ 3R 1 oo, adar & 3R 04 ag GBI W IR W & A
5 frodte woral €1 O 98 qRE B 3R Gl T 3R 2 oo ekl B 39 I, oF
TR B SR gEar & SR 9 fhodle Tw & | 9 dg U TR fag § o @ @r
(1) 10 f@Fo#te (2) 9 fFonle

(3) 5 [hofo (4) 4 fHofs

57. You go North, turn right, then right again and then go to the left. In which
direction are you now ?

i1} Norlh (2) Wesl
(3) East (4) South

(18)
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58.

59.

60.

18P/291/22(Set-1)

M S PR o E A ey # IF A SR R AW 9T E ) 39 o fa
R HAE?
(1) S (2) qf¥gm

6 persons A, B, C, D, E and F are standing in a circle. B is between D and C. A is
between E and C. Fis Lo the right side of D. Who is between A and F 2

(1) B (2) D

(3) C (4) E
ﬁa':f?_faA,B,C,L‘J,E&T*.H‘qrrhTﬁaréﬁ?ﬂ%_%m,[)&ﬁi’ca%ﬁmr‘f%m,F:ﬁw
CEATARNFDB N WG 2| AR FD fg § a2 2

(1) B (2) D

(3) C (4) E

If football is called Cricket, Cricket is called Basketball, Basketball is called
Badminton, Badminton is called Volieyball. Volleyball is called Hockey and
Hockey is called Golf, then which of the following games is not played using a

ball ?

(1) Volleyball (2) Baskelball

(3) Hockey : (4) Cricket

e Gt @l fbae FE oy, fhoe @) aRaedl BE oI, RGeRTs @ deien
FE WY, dSHe & et wEl S, didare B g TR W sk 2 @ v
wEl e, A e wel F 3 eear G dt B wn a5 e s
(1) areflare (2) IRPedd

(3) g (4) fordbe

A family went for a vacation, unfortunately, it rained daily for 13 days when
they were there. But whenever it rained in the mornings, they had clear
alternoons and vice versa. In all, they enjoyed 11 mornings and 12 afternoons.
How many days in all did they stay there ?

() 1a (2) 18 (3) 20 (4) 25

U® URAN BE HAM 81| gUiae, W9 3 98 9 13 R9 g 99 w88 @
cift o ff ol # awd g8, d) IR w1 ian fiewe wie ddl o 3R cad
fRudia &% & @7 Pemex, TEF 11 @F= ok 12 SR P HER o o
fYerer g get fras fq <@ 2

(1) 15 (2) 18 (3) 20 (4) 25

(19) P.7.0.
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61. B is twice as old as A but twice younger than F. Cis half the age of A butis
twice older than 1. Who is the second oldest ?
(1) B (2) F (3) C (4) D
Bou AW LT eyl & AT F 9 41 BT B C B BE A B Al R A
DY A T A & | guv A 9T B € 7
(1) B (2) F (3) C (4)

62. A 180 m long train is running at 54 Kmph. IHow much time it will lake to cross
a platform of 120m long ?
(1) 20 seconds (2) 22 seconds (3) 19 seconds (4) 18 seconds
180 B2z A T WS 54 e v e B afa 9 e @ 7 120 ey ww
AeHEH B YR & # a8 fhde wRa ol v

(1) 20 ¥Hs (2) 22¥%s (3) 19 9ds (4) 18 Twe
63. The diagonal of a cube is 8 ¥ 3 cm. Find its surface arca.

(1) 34 cm’ (2) 364 cm’ (3) 384 cem’ (4) 384cm’

va U B F9 8V 3TN | THHT ORI &3 T BIH |

(1) 34 96° (2) 3644 (3) 384 TV (4) 3843

64. A parking lot contains 160 vehicles. Each vehicle is either a car or a truck, and
each vehicle is either red or green. 70 vehicles are red, and 120 vehicles are cars,
If there are 18 green trucks, how many red cars are there?
(1} 34 (2) 30 (3) 48 (1) 43
o yrfde Sife 8§ 160 9rEF 3d €1 Y0P @R U1 a1 N Ul ga 2 AW udlE A
MaAT AT T BT B 70 I8 o 8, 120 9 BR &1 4% 18 2@ & & 1 faed
HR A B 7
(1) 54 (2) 30 (3) 48 (4) 43

65. If 5 people undertook a piece of construction work and finished halt the b in
15 days. If two people drop out, then the job will be completed in how man,
davs?

(1) 25davs (2) 20days (3) 15 davs (4) 10 davs

afe 5 wfewal 7 w18 fFwfor wrt fom SR Swwt sier B 15 R ue ey S
Ry o afa ¥ ol Bre R o o P R quam 2

(1) 25 (2) 2024 (3) 15139 (4) 10

(20)
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86. A man can

67.

68.

69.

18P/291/22(Set-1)

row 24 kmph in still water. It takes him thrice as long to row up as
to row down the river. Find the rate of the stream :

(1) 4 kmph (2) 12 kmph (3) 6 kmph (4) 1 kmph
mw&rﬁmﬁﬁm%oﬁnwﬁrﬂmaﬁnﬁﬁmammﬁfmirrfr"'.fn

-

uqmaﬁmnﬁﬂmwx#ﬁmﬁﬁwﬁmmﬁﬁmwwwé
JaTE & TR S T

(1) 4fHode ufy Hey (2) 12 fFofie ufy o=
(31 o [hodlo Ufd ger (4) 1fFoAlo ufy Her

A large field of 900 hectares is divided into two parts. The difference of the
areas of the two parts is one-fifth of the average of the two areas, What is the
area of the smaller part in hectares ?

(1) 395 (2) 385 (3) 415 (4) 405

900 BICT B UH 98 &7 B 31 9 A RAifera fem w2 2 @ a3 S
BT IR QAT B A5Gl B ofied B Yes drEat T | B AT @1 S
g ¥ fhaar 8 ?

(1) 395 (2) 385 (3) 415 (4) 405

A man starts at 3 pm with the speed of 50 Kmph. Another man follows him at
+ pm with the speed of 75 Kmph. When will they meet ?

(1) 5pm (2) 6 pm (3) 7pm (4) 6.30 pm

U afdd 3 a9 HURET B 50 fhedo afa g2 @ Y weE o B @) e g
433 W 75 fhodle wft w2 A 7R & Swe 918 g 21 3 Q) Fw A °

(1) 587 91y (2) 6499 9 (3) 79 |y (4) 6.30 T Wy

A work could be completed in 100 days. However, due to the absence of 10
workers, it was completed in 110 days. Find the original number of workers ?
(1) 100 (2) 110 (3) 55 (4) 30

UF FE B 100 RF F @1 fhur o @ ant dfdw, 10 e @ seeRaf §
&R g% 110 fRF & @1 fvar man ) wor®Y @Y arafie ww@n sna Ff

(1) 100 (2) 110 (3) 55 (4) 50

(21) P.T.Cx
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70.

71.

72.

73.

74.

~ L4 1. f"‘ q % F ||1. l » 1 } L {Il’ '{I L.i[!..' i--l
" T ¥ l‘ ! H‘ - " “{.rt h"- LY

12 years. What is the average age of the whole class .
( l)i 125 Yrs (2) 142Yrs (3) 123 Yrs (4) 12.6YT

o e 3 30 TSP B AT IH 13 9 & q1 20 Frefedl @ aiGa gy 12 41 el
tij'cﬁaﬂi‘n“tsﬁﬁawamﬁ? .

: f -
(1) 125 (2) 142794 (3) 12379 (4) 12694

Find the distance of the point A(4, -4) from the origin:

(1) 3\2 (2) $2 (3) 6V2 (4) 812
ﬁﬁA{{-ha‘?‘:ﬁﬂﬁ.ﬁgﬁ?@gﬁzﬁﬁm:
(1) 32 (2) 42 (3) Ov2 (4) &\

The greatest possible length which can be used Lo measure exactly the length-
7m 3m85cm, 12m95cmis:

(i) 15¢cm (2} 33¢m (3) 23¢m (1} 33 ¢m

T waife wiea dwarg & fieer Iuan 7 dicy, 3 HIKR 85 adaley, 12 WIS
AL A IRCIESIBE sraTedi @ Wi d fur o7 Gl B

(1) 1588er  (2) 35 e (3) 25 Wfler (4) 55w

The average of 7 numbers 1s 18. The average of first three numbers 15 14 and the
1 " i1 o |
average of last three numbers 1s 19. What is the middle number

(1) 42 (2) 57 (3) 27 (4) 37

- 3T @ siiad 18 & | wom o Fwl &1 aid 14 ¢ 3R amid 19 et By oI
198 9ra @ q® BE-AT B 7

(1) 42 (2) 57 7 4 37

The average age of a class of 32 students is 16 years, If the teacher ¢ age 1= also
included, the average increases by one year. What is the age of the teacher 2

(1) 49 vears (2) 48 years (3) 47 years (4) 30 vears

o e B 32 ©rE B oftad 5u 16 gd 21 AR B @ Sy @ wnEe e
e, 3T tF o4 4¢ wrar & | s o) 3w fha & ?

(1) 49 ¢ (2) 48 ¥ (3) 47 7 (4) 3079

(22)
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15.

76.

i

78.

18P/291/22(Set-1)

A, Band C start at the same time in the same direction to run around a circular
stadium. A rounds in 252 seconds, B in 308 seconds and C in 198 seconds, all
starting at the same point. After what time will they again be at the slarting
point ?

(1) 26 minutes and 18 seconds (2) 45 minutes

(3) 46 minutes and 12 seconds (4) 42 minutes and 36 seconds
Q?ﬁnﬁarmliqé%uﬂ?hlmmﬁzﬁ%nA,Baﬂ?(jwmﬁwé‘if&snﬁ
AT Bl ue @ Rvg @ A v A 252 Yo i B 308 Wa#is aik C 198 wdis
F qFE A &, B W B 7 & I g R g w e 2

(1) 26 feie atk 18 Qe (2) 45 fase
(3} 46 e 3R 12 g9 4) 42 fFe aik 36 Qo

Average ol five consecutive odd numbers is 35. Find the greatest number in
these five numbers ?

(i 3l (2) 33 (3) 39 (4) 35
W BMAEN ey ga) @1 oftaa 3521 & o BT A FE - 3P S i
(1) 31 (2) 33 (3) 39 (4) 25

The sum of the ages of Moti and Akhil is twice the difference of their ages. Find
the ratio of Akhil's age to Moti's age :

(1) 3:1 2 2:3 (3) 1:3 (4) 1:4
rﬁaﬁvaﬁmaﬁa&wwmm%wmaw%:aﬁwaﬁ?%ﬁaﬁ
34 &1 IFqUrT 3a I

i a2zl (2) 2:3 9y 133 4) 1:4

The proportion of milk and water in 3 samplesis2:1,3:2and 5: 3. A mixture
comprising of equal quantities of all 3 samples is made. The proportion of milk
and waler in the mixture is ;

(1) 98:61 (2) 227:133 (3) ] (4) 6:5

5
A = A gy ok M @ ST 2:1,3:23MR5:3 8 o & i & & g
THH HIH1 | UF Rsor R fea war | fysror GH 3R 9T @7 ST ¥

i1) ¥8:6] (2y 227:133 (3) 5:1 (4) 6:3

()

(23) P.T.O
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79.

80.

81.

82.

A sum of Rs. 12,500 amounts to Rs. 15,500 in 4 years at the rate of simple
interest. What is the rate of interest ?

(1) 3% (2) 4% (3} 5% (4) 6%

UF WURY & B e A 12,500 To AR 99 7 15,500 %o 2l Ol 81 & @ SN
e’

(1) 3% 2) 4% (3) 5% (4) 6%

A sum of money amounts to Rs. 9,800 after 5 years and Rs. 12,005 after 8 years
at the same rate of simple interest. The rate of interest per annum is :

(1) 5% (2) 8% (3) 12% (4) 13%

¥ g9 AHROT &S B FEA W H 5 s are 9,800 To 3R § T @< 12,005 T &
ST ¥ | & @ afte W E

(1) 5% 2) 8% 3) 12% d) 150

A sum of money at simple interest amounts to Rs. 815 in 3 years and to Rs. 8§54
in 4 years. The sum is:

(1) Rs. 650 (2) Rs. 690 (3) Rs. 698 (4) Rs. 700

P g TURT @ B X/ 3 W A o 815 3R 4 99 ¥ ¥= 8§54 & AW £ I¥
el

(1) %o 650 (2) %o 690 (3) boHYS8 (4) Fo 700

A train running at the speed of 60 km/hr crosses a pole in Y seconds, What is

the length of the train ?
(1) 120 metres (2) 180 metres
(3) 324 metres (4) 150 metres

@ 2 60 fdfle wRY W A vy @ e g2 fed @ 1 9 wde F am R #
o @ o @l B 7

(1) 120 #HeR (2) 180 #rez

(3) 324 HreR (4) 150 #irex

(24)
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83.

84.

85.

86.

18P/291/22(Set-1)

I a rectangular hall of length 12 m and breadth 8 m, the sum of the areas of the

Hoor and the ceiling is equal to the sum of the area of the four walls. Find liw
height of the hal),

(I) 10m (2} 5m (3) 75m (4) 4.8 m

TE 12rﬁmmaﬁsﬁmﬂgﬁ$mﬁmwﬁ,rﬁsiai’reﬁa'n%efmwa i
A A QAR @ &A% @ A @ avae 2 el @ S sma AR

(10 Bey (2) 5 #ex (3) 7.5 Mfrex (4) 4.8 drex

In an election, candidate A g0t 753% of the total valid votes. If 15% of the total
votes were declared invalid and the total numbers of voles was 5,60,000, find
the numbers of valid vote polled in favour of candidate A.

(1) 3,57,600 (2) 3,56,000

(31 3,67,000 (4) 357,000

TP Adld H SRIEER A @ g@ S0 oudl @1 75% Mar) o &l H7Tl @l 15% du
=:::&n%mnmmaﬁvaﬁﬂa‘ifﬁmﬁ,ﬁo,omaﬁ.a’laﬂﬁWAa%w#rﬁ;
g AT D IR T BT |

{1) 3,57,600 (2) 3,56,000
t3) 307,000 (4) 3,357,000

How many numbers from 10 to 50 are exactly divisible by 3 ?
10 % 50 @ & fea Wt 3§ ot ey # 2
(1) 13 (2) 12 (3) 14 (4) 11

A man covers a distance of 180 Km at 72 Kmph and next 190 Km at 88 Kmph.
What is his average speed for his whole journey of 370 Km ?

(1) 79.2 Kmph (2) 79.4 Kmph

(3) 77.25 Kmph (4) 78.5 Kmph

wm it 180 fFofle & qff 72 oo ufy w2 A afa 3 air Al 190 fBefo
g9 88 fbolo uft w2 & 7y F g FRar #| GHd 370 Fhofle & www we
A foi 3wa oftaa iy aar & 2

(i T2 fEedro ofy ger (2) 79.4 fFoo wiy wie
(3) 7725 oo ufd ey (4) 78.5 fdoRo ufy wey
(25 ) PTO.

—
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87.

88.

89.

90.

- a2 tres. The thiel starts
A thief is noticed by a policeman (rom a distance of 300 metre

J i r ¥ 1Cen. t‘il 'lhll Nl"
running and policeman chases him. The thief and the pt_ll'll?l man run iy
of 9 Kmph and 12 Kmph respectively. What is the difference between theti
alter 3 minutes ? -

(1) 130 meltres (2) 125 metres (3) 143 metres (4) 1At metres

ga giwa Rl AR @1 300 e 7 7l § Fwal g1 ?ﬂf Hi sqiw:f. 'n:n :\F o
i awE Go okl §1 o R gRm HAA: 9 fhodlo FIA U Sk 1 RS
= . : 5 : . .-‘ o A .

ofy 62 @ 7% @ <red 21 3 Me @ oFl @ A faw s e

(1) 130 A (2) 125 R (3) 143 AeX (4) 150 ®rew

A and B together can plough a field in 10 hours buft b;.-' himself A reguired
15 hours. How long would B take to plough the same field ?

(1) 10 hours (2) 20 hours

(3) 30 hours (4) 40 hours o o |
A 3iv B W PieaR R0 B9 10 ue WO Had B b A @ WH 15 4
o #1 9 A B Sd A B R wwy

(1) 109 (2) 20 ‘FE
(3) 309¢C (4) 4092

If 8 men or 12 women can do a piece of work in 10 days, then the number vi
days required by 4 men and 4 women to finiz-'jh the mn?e :wnrk T

afe § gov ar 12 Rl ) @ &1 10 767 7 TR FDA € G0 4 G0 SR 4 JE
G T B @) T B A fead R @

(1) 8 (2) 10 (3) 12 (4) 14

A and B started a business with the investments in the ratio of 51 3 respectively.
After 6 months from the start of the business, C joined them and the respective
ratio between the investments of B and C was 2 3. If the annual profit earned
by them was Rs. 12,300, what was the difference between B's share and C-
share in the profit ?

AR B HAT 5:3 @ FOW @ auid 4 ARy fdun s 5o o
6 e cFaTe C I Wi gom ok Faw # B ofR C &1 Syl Her 20 3 o A
Sd g FAET T i @ To 12,300 o1, || A B @ Ry s C @l
& drg fraen = o 7

(1) 900 (2) 800 (3) 750 (4) 930

(26)
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a1,

92.

93.

94.

18P/291/22(Set-1)

W hlL'l 10
cunftry b
try has been named (he most peaceful country in the world 2

(1) Denmark (2) Iceland
(3} Austri;
Jﬁuwtr.n (4) New Zealand
9% R wAeE wifeyet 2w v @ ST B 7
(1) e (2) amgaee
(3) g (4) =guirere
I which of the fu[luwing cities, the United Nations University is located ?
Dy Gene '
r chevd {(2) New York
(3) Paris (4) Tokyo
%mwﬁﬁﬁﬁmﬁmwm%wﬁwﬁw%?
(1) wival (2) =yt
(3) uly (4) e
The Hozagiri dance belongs to which state ?
(1) Mizoram (2) Nagaland
(3) Sikkim (4) Tripura
A Fea B g g wafm @ 2
(1) fireiRg (2) ArTeS
(3) fafgms (4) g
Which amongst the following countries has the largest number of people of the

Indian origin ?

(1) Malaysia (2) Fiji

(3) Guyana {(4) South Africa

r'mMﬁﬁWWﬁ?ﬁﬂ{aﬂ%aﬁﬁﬁﬁmmﬁﬁm?Q

(1) =erfdan (2) foofl

(3 AR (4) &7 appYaE
(27)

P

—
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95.

96.

97.

98.

. : N
Hepatitis B is a disease of which of the following -
i - .

(1) Lungs
(3) Liver

é‘ﬂaﬁﬂBﬁﬁﬁﬁﬁ‘nﬁﬁémrﬂ??

(1) DEHS
(3) TR

The first branch of which bank in China was

Modi in Shanghati ?
(1) HDFC
(3} SBI

A 7 fpg g 0 UYE RGBT IGUICT el ATl

v
(1) HDFC
(3) SBI

"Coco island” is located between ...
(1) India-Bangladesh

(3) India-Pakistan

“wrey @ ... ® 4= Rem &

(1) ¥Ra-aARE]
(3) HRA—YThET

With what Farrel's law 1s concerned ?
(1) Intensity of waves

(3) Direction of winds

pree @1 e ey wafd @ 7

(1) @i &t daa

(3) arg # fawm

(28)

(2) Heart
(4) Kidney

(2) fara

(4) TE

(2y 1CICH

(4) Axis

(2) ICICI
(4) Axis

(2) India-Myanmar
(4} India-Sri Lanka

(2) I -FITHR

(4) HRO—ATSH

(2) Velocity of winds

(4) Speed of light

(2) Ty @1 9T
(4) FET B A

—

inaugurated by PM Narendra

N A FR FEE 8o
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99. The largest producer of tobacco 1S :

100.

101,

102.

1) US

(1) lfle (2) India
(3) China (4) Brazil
TS, BT TN 987 INTCT &

(1) YoTHoTo (2) wra

3

(3) ¥ (4) arofre

In which of the following citi .
_ - g cities, the Inter ; o S
Conference 2017 was organized ? national World Climate Change

(1) Paris (2) Bonn
(3) London (4) Chicago

(1) aRw (2) &=
(3) & (4) RreTmy

Who has been honoured with the 201 ' !
i v e 2018 Sahitya Akademi Bhasha Samman

(1) Rahul Sankarnarayan (2) Shesh Anand Madhukar
(3) Visvanatha Satyanarayan (4) Thakazhi Sivasankara Pillai
A FBICH 1N T GRpR 2018 J sy s far o 2

(1) YBS IHTARTYT (2) 99 T AHR

(3) favasry germmrgy (4) wareh Rraview Ao

NE?ERI has collaborated with which internet company to teach students digital
salety ¢ ’

(1) Microsoft (2) Twitter
(3) Facebook (4) Google

QT-T:}?{I‘TGZ%DGIT‘EUéTO q BTE B ‘ﬁ";ﬁfﬁ &1 ot By B geXne
& W e fear @ ? " m— o

(1) ¥TEhTae (2) TheR
(3) F7gH (4) T
(29) P.T.O.
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; 5 c 2018 Inata open
103. Mary Kom has won gold in which weight caterory al the 2018 India of

boxing tournament ?

(1) 64 kg weight catetory (2) 60 kg weight catetory

(3) 54 kg weight catetory (4) 48 kg weight catetory

S 32018 B SR st s e @ R aR @ A AT oft 2 7
(1) 64 fHume ¥R a1 (2) 60 fTre ¥R g

(3) 54 fFwe WR @ (4) 48 (B4t ¥R @l

104. Name of the person who was honoured with Padma Shree, Padma Bhushan,
>adma Vibhushan and Bharat Ratna as well ?

(1) Satyajit Ray (2) Indira Gandhi

(3) Rabindranath Tagore (4) Sachin Tendulkar
e 1 @ fobw U cafdd Y GRS, UeA avl, TeEd fmer qul yea TE o RER)
O wEEa e A e Y

(1) Feraid ¥ (2) gfwr offed
(3) wfasrr R (4) G dedeian

105. Swami Vivekananda was the disciple of ..........

{1) Raja Rammohan Roy (2) Swami Davanand Saraswalti
(3) Shri Aurobindo (4) Ramkrishna Paramhansa
LG 1L B O 0 1 & 3 o |

(1) ST A T (2) @ g TR

(3) & SRR (4) BT TLAE

106. In India, which among the [ollowing states ranks first in tribal population ?

(1) Orissa (2) Chhattisgarh
(3) Manipur {(+) Assam
avd # frefafee wegl 8 § ea—u safearh sreviem § o vers w7
(1) sefear (2) wihrre
(3) AUITgR (4) ImEE
(30)

collegedunia.
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107. When will be the

108.

109.

110.

18P/291/22(Set-1)

longest day in Australia ?
(1) March 23 (2)

June 21
(3) September 22 (4) December 22
Sfer # waw o R @y oy 2 2
(1) 2373 (2) 21 5@
(3} 22 R (4) 22 ferymr

In the Union Budget 2018-19, the Central Government has allocated Rs. 48,000
crore for which scheme to encourage farmers of solar farmi ng?

Wiy KUSUM scheme (2) KUTSUB scheme
(3) KUSUN scheme ~ (4) KUTUB scheme

Q09 @32 2018-19 § uRT @) DU WER 3 i o) araw BT B fau
wrfed &¥ g¢ e de & B vo 48,000 &rs i faray & »

CE KUSUNT dloian (2) KUTSUB %51
(3} KUSUN 7= (4) KUTUB =

Which coutnry is to host the World Sustainable Development Summit -2018 ?

(1) South Africa (2) Nepal

a0 Brazil (4) India

v uRvir Rem Braw wem1.2018 9 Holalfl BT A% TR aron & ?
(1) AT FHIa] (2) e

(3) darsia (4) TRT

Which Indian swimmer has become the first Asian to swim across 'Ocean
Seven' ?

(1) Bhakti Sharma (2) Ashwin Menon
(3) Rehan Poncha (4) Rohan More
&4 IRl e ST [ bl R TR TR A7 WP URATE g Ty & 2
(1) s et (2) af¥aq ¥+
(3) VEM T (4) e /N
(31) P.T.O.
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1.

112

iil ti{, {le HEC-” i_' g - ; .1
: \ n .{ ahon on ]:'lm“iu ANu

K ashmir's [nternational Border to curb inbltration ?

(1) Operation Border (2) Operalion Alert

(3) Operation Control (4) Operation Star

e e @@ (foTHoutwo) A Y SR FEIR B FFRISTT G R R e @
fore ey offer wrest 5 @ 7

(1) aifqera @y (2) oifg¥er arEed
(3) ARTA FRIA (4) AT TR

In which city the Central Institute of Agricultural Engineering (CIAE]) 1

located ?

(1) New Delhi (2) Bhopal

(3) Chennai (4) Pune

AT PR Ful~anT TR (@roamdatodo) fa WER A Red ¢ 7
(1) =% fowed (2) Ui

(3) o= (4) g

Direction : (Question No. 113-116) ; In each of these questions a sentence has been

given in Active Voice/Passive Voice. Out of the four alternatives suggested, sclect the

one which best expresses the same sentence in Passive Voice/ Active Voice.

113.

[ did not trust anybody:.

(1) Nobody was trusted by me.

(2) Anybody has been trusted by me.
(3) Nobody would be trusted by me.

(4) Nobody has been trusted by me.

(32)
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114, Did he remember the date and time ?
(1) Are the date and time remembered by him ?
(2) Was he remembering the date and time ?
{3) Were the date and time remembered by him ?

(4) Did the date and time be remembered by him ?

115.  The boys were digging a hole in the ground.
(1) A hole has been dug in the ground by the boys.
(2) In the ground, the boys dug the hole.

(3} A hole in the ground has been dug by the boys.

(4) A hole was being dug by the boys in the ground.

116.  We must now deal with these problems.

(1) These problems must now be dealt with by us.

(2) These problems must now be dealing with by us.

(3} These problems must now deal with by us.

(4) These problems are to be dealt with by us.

117.  Elephanta island is located in which state ?

(1) Karnataka (2) Odisha

(3) West Bengal (4) Maharashtra

tfeee] @1y fha woa # fReyg & 7

(1) &eH 2) wSHT
(3} ¥ dre (4) TEWIE
(33)
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18P/291/22(Set-1)

ian cihzenship on
118. Name the Pakistan-born singer who was gl’ﬂl’lll‘d Indian abzensil

. " = b - 2 ¥ [T -'1
humanitarian ground with effect trom lanuary 1, 201672

(1) Ali Zafar (2) Atf Aslam
(3) Adnan Samui (4) Gulam Al

aifbear § 991 59 Tad @) ArER AR, W Gy 1, 2016 U ard amfeamedr
g B NG 7

(1) 3l SH®Y (2) ardlth 3T
(3) 3T TR (4) e Hel
119. To respect the constitutional autonomy, high courl of which state has directed

the government to hoist the state’s flag on all official building and cars ?
(1) Bihar (2) Jharkhand
(3) Meghalava (4) Jammu & Kashmir

GinE WA #1 ORI @ve 2g e o0 @ e e 7 T @
Sratag gl den HRI R o easiRee @1 fAder feur

(1) faER (2) SRS
(3) HHlel (4) 9" Td FIR

120. On which day National Girl Child Day 1s celebrated every vear to spread
awareness about the inequalities faced by the girl child in the country ?
(1) Sth March (2) 13th February
(3) 22nd May (4} 24th January
o F FIrERl B o SIEET & AR BT TS 8 SUE W GTehdl &l
JRIR @Y oy dioan fee @A e TS MEoe § FIRN ATaT & 7

(1) 83 2) 13 BRTd
(3) 227 (4) 24 FEd
(34)
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